Mechanics of Junit Testing

We discuss the mechanics of JUnit testing and warn you of fatal
mistakes you might make. We do this without really testing anything,

allowing us to concentrate on the mechanics of testing.

Here is the initial JUnit testing class, CTesterl. It has one proce-
dure, which is preceded by the annotation @Test. Procedure test con-

tains a call on procedure fail, which always fails.

A test that fails.

With class CTestl selected in the Package Ex-
plorer pane, use menu item Run - Run.

This causes method test to be called, and the re-
sults are displayed in a new JUnit Testing pane
where the Package Explorer pane was. A thick red
bar appears, indicating that an error occurred. Call-
ing procedure test caused an error because proce-
dure fail a/lways causes an error.

A test that passes.

Let’s remove the call on procedure fail in
method test and use menu item Run = Run again.
Now, execution of a call on procedure test did not
produce an error, so the JUnit pane has a green
arrow.

A severe warning!

C.java

1= import.static.org.junit.Assert.*;
import.org.junit.Test;

p

w

[J] CTester1.java 5%

=

L

fail("Not . yet. implemented");

= Failure Trace
L
-

! java.lang.AssertionEr

5. Problems 82

Javadoc Declaration

4 public-class-CTesterl.{
5
6= @Test
7 public-void-test()-{
8
9 }
10
11 %
g = 0 [J] c.java [J] CTester1.java 5%
4 G p®olRh ! 1= import.static.org.junit.Assert.*;
< 2 1import.org.junit.Test;
Finished after 0.038 sec 3
4 public.class-CTesterl.{
Runs: E Errors: 5
I @Test
v FiJ CTestert [Runner: 7 public-void-test()-{
gl test (0.004 ) 8 fail("Not.yet.implemented");
9 }
10
1 }
12

Console

]

=

[ Pa guJ R

0

I:IE:i g &l O‘:,-

-

Finished after 0.021 seconds

Runs: © Errors:

Fail

T e AT oA T 1
V gt CTester1 [Runner: JUni

gE]test (0.000 s)

We now have two testing procedure in class CTest1, named testl and
test2. Procedure testl has an empty procedure body; test2 has the call on
procedure fail. Again, with JUnit testing class CTesterl selected in the

Package Explorer pane, use menu item Run - Run.
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import.static-org.junit.Assert.*;

import.org.junit.Test;
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fail("Not . yet.implemented");
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Hey, the JUnit testing pane indicates that
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Summary

Check that (1) all procedures were called and (2) their calls completed.



